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1. Resistance of a material always decreases if

ToReft oft warel o1 Yoeew W T § S

a. Temperature of b. Temperature of material is ¢.  Number of free d. None of
material is decreased increased / s ugtef 1 AUEE 9 electrons available these /8 &
| wETeh T QT % 8 ST become more / ss garet BRI
S o e T T € 7

S

2. If the efficiency of a machine is to be high, what should be low?

afe ferelt wrefiv i relemar sifer 2R 2, di =1 9 &1 =Ty

a. Ratio of output to input / c. True component of d. kWh consumed /
TG AT AT I b. Losses / i POWer / Hfer s F=aT 51 KWH = 3w

3. When electric current passes through a metallic conductor, its temperature rises. This is due to
ST eI YATe U 9q o shedel ¥ oIl €, d1 SHhl A9 g STl &1 $6 1 R 8

a. collisions between b. The release of conduction c¢. mutual collisions d. mutual collisions
conduction electrons and electrons from parent atoms / | between metal atoms / arq | between conducting
atoms /=rer seeHt 3 ST AN & T g R | s 3 o s s electrons / seert & derem
TTLSAT o S T o s AT TR

4. Two bulbs of 500 W and 200 W rated at 250 V will have resistance ratio as

500 W 3 ar sies 3fe 250 V #%es 200 W wfcdrer S1gamd --------------- 2.
a. 4:25 b. 25:4 c. 2:5 d 5:2

5. A glass rod when rubbed with silk cloth is charged because
Wt U W TS W Hid T TS I & el  FAfeh

a. ittakes in proton /== b. its atoms are removed / c. itgivesaway d. it gives away
e r s et ¥ 39 % T e o § electrons / s st positive charge / ==
a1 frtfad et & dififea =Tt SeR SRl §

6. Whether circuit may be AC. or D.C. one, following is most effective in reducing the magnitude of the current.

Hfche THT 81 AT SIE fored YaTe 1 A A H —--mmmm e REERRICiR
a. Reactor/ frugex b. Capacitor/3mfae c. Inductor/iess d. Resistor/
RiEizy
7. It becomes more difficult to remove
a1 FererT SaTen Hfvshet & ST €
a. any electron from b. first electron from the orbit ¢. second electron from d. third
the orbit / wem & 1S «ft [eeTT | TR Sl the orbit / =vem & g&wr electron
ESCramE| aRH from the
orbit /e &
e s

8. When one leg of parallel circuit is opened out the total current will
STeT AT Tfehe T T T WIAT ST @ T el ToIed JaTg =--=mmmmmmmmmmmm )

a. Reduce /=g gm b. Increase/ sem c. decrease/swd:sHaErT d. become zero
[ ¥ & S




9. Inalamp load when more than one lamp are switched on the total resistance of the load

AT S S T 9 § SATET AP ohi T 31 5T ST €, el 36 ol et {oTeeH,

a. Increases /s g b. Decreases / &% g S & remains same / 3= & d. none of
war e these [snd @
S Tl

10. Two lamps 100 W and 40 W are connected in series across 230 V (alternating). Which of the following statement is

correct?
Teh 00 o o1 3 T ¥o 9T &1 sfes 230 giee AC # it # Sirer m 2. F=fafiad & & shiqer
forem wr 27
a. 100 W lamp will b. 40 W lamp will glow Both lamps will glow d. 40 W lamp
brighter / 200 sz =1 brighter /xo 3z = 3 samar et equally bright / 2t will fuse /¥o
I SATRT ot et 3 am R T e S T T e S
B SR

11. Resistance of 220 V, 100 W lamp will be
R0 TTEE, Y00 I % T T USTH g

a. 4.84 Ohm / x.¢x 3=

| b.48.4 Ohm / ¥¢.x sim

| C. 484 Ohm/ x¢x st

| d. 4840 Ohm / wexo sim

12. In the case of direct current

S I & T |

a. magnitude and

direction of current
remains constant /
[ERCREIE R LI T
3G feem v B §

g

b. magnitude and direction
of current changes with
time / fergasae =1 wamr ik
ITT fomT T T W e A

magnitude of current
changes with time /
TorId aTE T SHIoT T
WX SEerdT TEdT §

magnitude of
current
remains
constant / fera
TdTE <hl JHTUT hrAH
T e

13. When electric current passes through a bucket full of water, lot of bubbling is observed. This suggests that the type of

supply is

et forera e ot & it et § e @, d agd AT Jesares oull S 8| $H TaT =l @ foh TS 1 ST a6 g

a. A.C.

b. D.C.

c. any of above two / 3w § & &ig ot d. none of the above / 37w &
T g off T

14. Resistance of carbon filament lamp as the applied voltage increases

et g T HeH e o 1 fowed
a. Increases/sear® b. Decreases / & g & remains same / 3= & d. none of
T e these / 3wih
4 IE ot AT
15. Bulbs in street lighting are all connected in
oA Faesd_ ASIS T8
a. Parallel / e b. series / @ series-parallel / =s- d. endtoend/
e g dl ig
16. For testing appliances, the wattage of test lamp should be
T TR o AT 2% oA 1 e g1 =iy
a. very low /sga =n b. low/=w high / sarer d. any value/

T oft




17. Switching of a lamp in house produces noise in the radio. This is because switching operation produces.
HH o9 S | e § wratee gt 8. 98 Raftt & dem fomtor €19 % o ST 2.

a. arcsacross b. mechanical noise of high c. both mechanical noise d. none of the
separating contacts / intensity / sga arer =it and arc between above / 3w/
ST hieded § 3k TSt contacts / =rifir st F o 78

3T 3Tk QT

18. Sparking occurs when a load is switched off because the circuit has high

ferel e ot e @i e & oo 3 SHTCUT TATIHT BT 3
a. Resistance / ffoew b. Inductance / seem c. Capacitance / aftres d. Impedance /

19. Copper wire of certain length and resistance is drawn out to three times its length without change in volume, the new
resistance of wire becomes.
foreft atar o A ft, et i Wl 2, 1ot awas % 3 T Wiee o foRe S, A1 SH o e SR @0 AR % aeqE e | i aead
T .

a. 1/9times/ /2 T b. Times/ 3 c. 9times/

d. unchanged / sa=r &

20. When resistance element of a heater fuses and then we reconnect it after removing a portion of it, the power of the

heater will.
et % E WIS B S W S & 3 {ehae R ©, df diel il gt
a. Decrease / #u gnft b. Increase / seft c. remain constant/ d. none of these / s #
3T & W ¥ 7
21. A field of force can exist only between
fice i B hael o o= o deRaT ©
a. two molecules /a1 b. twoions/ ar s & st c. twoatoms /@ wm | d. two metal
HUSAT o sfter a i particles / 3 ergsvii
o

22. A substance whose molecules consist of dissimilar atoms is called
ere, o o STenT SFenT W B €, 39 FEd €

a. semi-conductor /& b. super-conductor c. compound /e d. insulator/
HTAL | gt Fea ENE

23. International ohm is defined in terms of the resistance of

S S 1 Yedw @ i fora e 2,
a. column of mercury / b. cube of carbon/ c. acube of copper /@ % d. the unit length of
T T I F I s wire / AT % T e
IS T

24. Three identical resistors are first connected in parallel and then in series. The resultant resistance of the first
combination to the second will be
T T S W Teet Teetet Siit aTe 7 WIS 7 e R T, TRt hiftee e ga

TR o (ST |

b. 1/9times/ /3 c. 1/3times / ¢/3Tm d. 3times/z
NG

)

a. 9times/mr




25. Which method can be used for absolute measurement of resistances?
et Tgfa ot WSreew Ao o T SwRinT § it S wendt 37

a. Lorentz method /

b. Releigh method /

c. Ohm’s law method /

d. Wheatstone bridge

e T {efiere CIESISIRRS method / =deem fsrst
g
26. 6 ohm resistors are connected to form a triangle. What is the resistance between any two corners
o & Trar & (el o Uk BrehioT & sheae foRam T 2. BreRivr & &1 T o st o doreeH feRT 2m?
a. 3/20hm/3/2 3@ b. 6 0hm/ & s c. 40hm/x s d. 8/30hm/
¢/3 T

27. Ohm’s law is not applicable to

AR &t fo o omy T Srar?

a. semi-conductors / b. D.C. circuits/ DC c. small resistors / s d. highcurrents / s==

2

S

28. Two copper conductors have equal length. The cross-sectional area of one conductor is four times that of the other. If
the conductor having smaller cross sectional area has a resistance of 40 ohms the resistance of other conductor will

be

qlel o a1 sheded shl TS Ueh SIHT €. 3§ § Ueh 1 Heht STHNTRY &thel gAY o = THT 8, SRS 8

BIC T AT FEPHe Tl heael il USREH Yo HTa &, Al qa Fhedet 1 ieew 2.

a. 160 ohms / g&oatar

b. 80 ohms/ ¢osirar

c. 20 ohms / o3t

d. 10 ohms/ 2o
S

29.
required will be

A nichrome wire used as a heater coil has the resistance of 2 ohm. For a heater of 1 kW at 200 V, the length of wire

ek ATk IR &et higet o &9 H et i 9Tt © ; e gfater 2 ohm 2, 200 volts w1 kKW feex & srevaes ar i oeré 2iff -

a. 80m

b. 60m

c. 40m

d 20m

30. Temperature co-efficient of resistance is expressed in terms of

SIfCRTeT BT QTR STt TUrieh (SPeR shisfhfie S B # afie 3-

a.

ohms/°C

b. mhos/ohm°C

C.

ohms/ohm°C d.

mhos/°C

31. Which of the following materials has the least resistivity?

freaferfiae & @ forer aq St wfoRrar (weiedeidt ) = & -

a.

Zinc

i (57)

b. Lead
g ()

C.

Mercury d.

TR ()

Copper
EaRGIED)!

32. When current flows through heater coil it glows but supply wiring does not glow because
e et % AR fSd o yenfed St ® de 98 SRR ST & fohq Teels i SeRIRT T ST, $HeRT BT € -

a.

current through supply
line flows at slower speed
HOATS AT § ferggaema it i

 yafed 2t ¢ |

b. supply wiring is
covered with
in-sulation layer
TeATS e Terdiameh &t o &

BTG 2 |

C.

resistance of heater coil | d.

is more than the supply
wires

EIeTeRTEe ol Ufere TwTs ar
T feh R |

supply wires are made
of superior material
HOATS IR ITH G118 |




33. The condition for the validity under Ohm’s law is that

TR Tl % STTAR JeT o oI ST I & --

a. resistance must be b. current should be C. resistance must be wire temperature at positive
uniform proportional to the size wound type end should be more than
ferrer g =fe of the resistance iRy qR SATeSTErd BT =Ry the temperature at

forerd e ferer 3 1Rt & | negative end
HATITI BT =AM & BR HT ATIHM R0 BK
A & Sk g7 =Ry
34. Which of the following statement is correct?
fereferRaa & & ehivar ameg aet @ -
a. A semi-conductor is a b. A semi-conductor is a c. A semi-conductor is one A semi-conductor is a

material whose
conductivity is same as
between that of a
conductor and an
insulator

Yefisheae AefEaTEF T THT
verd ® fSeehl areehdT U aresh
verel iR fogaree yerd % off=r

e -

material which has
conductivity having
average value of
conductivity of metal
and insulator
STefaTEF U UHT waTef 7
ekt wiareshan G1q 3
fordiamee % ofed % SR Bt
2

which conducts only
half of the applied

voltage
SrdferaTe 9% & Sl shalel I
foreIq 3 o ST T e AT

2|

material made of
alternate layers of
conducting material and
insulator
sreffoeiaTee U UHl vared 2 S
aresh yaref qer fordaTee yaret

eI Teaf & ST g3 2 |

35. A rheostat differs from potentiometer in the respect that it

T Rafieee o defy | qieRmEmer & o= giar @ -

a. has lower wattage rating
3EehT FeST AT FH BT &

b. has higher wattage
rating
SO FeS exwn ek Bt &

has large number of

turns
IHk WU T T 31 Al §

offers large number of

tapping
i i wear stk Bt ®

36. An open resistor, when checked with an ohm-meter reads

T AT SR i SE et § Sita i Areht @ 7 awiian @ -

a. zero b. infinite ¢. high but within low but not zero
RS EEk| tolerance A WAfeh I T |
I= Tl dirfia
37. are the materials having electrical conductivity much less than most of the metals but much greater than that of

typical insulators.

e U vare @ el e areer stftehar et @ e saT hw @ qifeR fafire fomemeet @ sfq St @

a. Varistors b. Thermistor c. Semi-conductors Variable resistors
Fex offeet Tfiehgdet SElieae TSfeet

38. All good conductors have high

TS IH Hareshehl — frefefed fawdr == At |

a. Conductance b. Resistance c. Reluctance thermal conductivity

39. Voltage dependent resistors are usually made from

T @ (Sieest) W aenfid i (Set) 31 dit 9 ST S 2 |

a. charcoal b. silicon carbide €. nichrome graphite
FAT fafereri srefse TRIHH TTHTES




40. Voltage dependent resistors are used
TRy aTer (SesT) TR SATentid T ITART R ST 2 -

a. for inductive circuits b. to supress surges c. as heating elements d. as current stabilizers
eHT giehe § TSt R F g fefen qeal & w0 e TeflTger & ¥
41. The ratio of mass of proton to that of electron is nearly
IS 1 FMM I S T FeHH T ST (T7) ST 80 © -
a. 1840 | b. 1640 [c. 30 |d. 4
42. The number of electrons in the outer most orbit of carbon atom is
TSI T T Hor Set e § (3ifole) sorg b wen
a. 3 |b. 4 lc. 6 [d. 7
43. A thermistor has
U gffeet i BAA T -
a. positive temperature b. negative temperature C. zero temperature d. variable temperature
coefficient coefficient coefficient coefficient
EFTTeH ATIHT STETT TTuTish FeATeHeh ATUHT e T0Tish I ATOH SR TOTish Tfad (fefeuser) ammm
FTETAT TOTih

44.If I, R and t are the current, resistance and time respectively, then according to Joule’s law heat produced will be

proportional to
|, R st t 37 foga vame, wfoier ik 1t @ @ e off % SFTER Seaniad ST e (Sorie) gt

a. I’Rt | b. I°Rf | c. PRt [ d. IRt
45. Nichrome wire is an alloy of
TS AR T Ty e B
a. lead and zinc b. chromium and vanadium | c. nickel and chromium d. copper and silver

46. When a voltage of one volt is applied, a circuit allows one microampere current to flow through it. The conductance of

the circuit is

T Gfhe # e diee F e A R S A v afe uh A siftwer e vare st arem & arid e ¢ athe i (Few) §

a. 1n-mho | b. 106 mho | c. 1 milli-mho | d. none of these
47. Which of the following can have negative temperature coefficient?
T & TorErehT Ao SR, T (S ISRt SRomeas: 8
a. Compounds of silver b. Liquid metals c. Metallic alloys d. Electrolytes
FHTHE 1% Hieteat ECRIG Tferen S TAFIATZE
48. Conductance : mho ::
shead - mho ::
a. resistance : ohm b. capacitance : henry c. inductance : farad d. lumen : steradian
e | ohm FUte T ge7ew : farad T ¢ TSI
49. 1 angstrom is equal to
1 angstrom = wdee ®
a. 10° mm |b. 10 cm [c. 10'm |d. 10'm
50. One newton metre is same as
T e e ¥
a. one watt b. one joule c. fivejoules d. one joule second
T de A 1EeE ST ST TS




51. Which of the following motors is used in ceiling fan?
frafafaa & forer Wiet 1 ST B & e § foRar ST 2.

a. Universal motor b. Synchronous motor c. Series motor e. Induction motor
RIEEEE KT Hishrg Tt d. i et ESEERITRY
52. Number of parallel path in wave winding is:
I e & daeted wrer it e §
a. 2 |b. 3 c. 4 |d. 6
53. CT is used for measuring
CT f=fafad aofar &
a. Voltage b. Frequency c. Power factor d. Alternating current
dieest et T TR TSR e
54. Active power in 3 phase circuit is:
3 % "dfthe | 3fadieg Uiel &A1 §
a. 3 Vil Coso | b. 3Vl Coso c. V2 Vil Coso | d. 2 Vil Coso
55. Zener diodes are commonly used as:
I gre (Zener diode) wremren frefafaad swem fore S §
a. Rectifier b. Amplifier c. Voltage regulator d. Filter
ek FeATHRI eSSt et Tt
56. Unit of reluctance:
framea &1 e @
a. Ampere Turns/Weber b. Weber Turns c. Henry d. Weber Turns/Ampere
SRR e /3 EELTa) kel e T / SFfrr
57. Unit of luminous intensity is
e Rfadt w1 gfe §
a. Lumen b. Lux c. Lumen/m? d. Candela
SR T i [ et
58. Which of the following is secondary cell?
frferfaquia s dshett I &
a. Drycell b. Leclanche cell c. Voltaic cell d. Lead acid cell
SR oA RESIHES] dieerss o fore offtre ot
59. Energy stored in inductor is:
Fedet § T it (TA) Bt &
a. W= (1/4)LI12 b. W= (1/2)LI2 c. W=(1/2)L2 d. W= (1/2)L212
60. The power factor of pure resistive circuit is
37ee ISR |fehe 1 oTeR et B §
a. Zero b. Leading ¢. Lagging d. Unity
= SISl uiu RIS

61.11-The time taken by an alternating quantity to complete one cycle:

HETAL I A U AT T FA o [ o g1 1t &

a. Time period b. Frequency
EECRENEES Tperiet

C.

Angular velocity d.

IR seaitael

Time constant
2139 e




62. Specific gravity of a fully charged lead acid cell is approximately
ol =St it g8 <its stfire drer it Sfaftee dfeedt e Bt §

a. 1.18

| b.

1.21 |

c. 117

|d. 1.16

63. lllumination of a surface is inversely proportional to:

98 i ST g & fooda st §

a. Luminous intensity b.

fua efael

i @ gt

Distance from the source

¢. Square of the distance
from the source
=1 & gl 1

d. Total Lumen
ot i

64. Speed of dc motor is directly proportional to ____ and inversely proportional to:

S, "t A & ey srgaTfae qe o SGHATI Bt 2|
a. flux, back emf b. current, back emf c. back emf, flux d. back emf, voltage
AR , & 3. THLUH FE , qF LOTE o § T, UE, T e 3 T, TF, dlees
65. Inductive reactance of a coil having inductance 4 H:
4H e % qR F Teier fefae &
a. 796x10°Q b. 1256 Q c. 314Q d 628Q
66. Generator efficiency is maximum when
SRRt arR I RTe
a) Variable loss is b) Constant loss = c) Constant loss is d) Constant loss is half
minimum Variable loss minimum of the variable loss
RECERICHEIERILE FregedT = HIHTA T e,
ECERIT ERCCKIECIBIN]
67. Effective capacitance of capacitors connected in series, is
E : %E{vviz: s éogvaEE%_
a) C=C1+C+C3+ b) 1/C=1/Ci+1/Co + C) C=1/Ci+1/Cy+ d) C=1/C;-1/Co+
Cs+...... 1/C3+ 1/Cs+...... 1/C3+ 1/Cs+...... 1/C3—1/Cs+......
68. Which is active component?
frmeafraseRRiar ?
a) Capacitor b) Transistor ¢) Inductor d) Resistor
Fteet TSR EEETS Ragarezy
69. Form factor =
HHEF =
a) rms value / average b) average value / c) rms value / peak d) peak value/rms
value rms value value value
IMS=Y /sty HaASeRed/ rms &g rmsegey/ dieheeey diehegey/rms ey

70. Admittance is the __ of conductance and suspectance

IfgHITH, hede-a3TRETIFE AR

a) Arithmetic mean
ot

b) Arithmetic

difference
Sfromfeshiena

c) Vector sum
RFEHH

d) Reciprocal
Resiicosd




71.BY 127 is a:

BY 127rerefz-
a) PNP transistor b) NPN transistor c) TRIAC d) Semi conductor
PNPzi=fez NP Nzt TRIAC diode
Tifisheaciere
72. Resultant flux of 3 phase induction motor is:
3 thelEEHRMHAICTRIEITe CHAaTa T -
a) (\/3/2)(prn b) (3/2)pm c) 3o¢m d) 2o¢m
73. Which has negative temperature coefficient resistance?
TR eReeRT Tah Tl RTEZ( AToHTTeToTish ) oM~
a) Copper b) Aluminium c) lron d) Carbon
R LIRS A EREE
74. Syncronous speed of a 3 phase, 4 pole, 50Hz induction motor is
3%, 49, 50888 , SeRMUTHITEShTaEiEanT-
a) 1500 rpm b) 1440 rpm c) 3000 rpm d) 2880 rpm
75. Maximum number of electrons in valence shell of an atom is:
ATV he TR CH S (o[ S e e A TR T
a) 3 | h) 6 | ¢ 8 d) 16
76. The following is Y class insulating material:
freferRaatafordemesnaer -
a) Mica b) Cotton c) Porcelain d) Asbestos
TTTRT i gféfer KieErear)
77. Electric charge is equal to:
SRR =
a) It b) I/t c) It d) 1%t
78. Resonant frequency of an ac series circuit is:
.o, dilisafheshi: i sieseaedTe
a) 1/2n(LC)Y? b) 1/4m(LC)Y? c) 1/4nLC d) 1/2zaLC
79. 1N 4007 is semi conductor diode. Here 1N represents:
1IN 4007wwafieheaetemrsr, 1Naziar -
a) Forward current b) Voltage drop c) One layer d) One PN junction
BHIEHE dleeIg EEIDIY EERIEEEANES
80. Limiting temperature of F class insulating material:
F semesgaifemerishifafufemammmz
a) 225°C b) 105°C c) 120°C d) 155°C




81. Absolute permeability of free space o=
shreEsh e Rt o=

a) 4mx 107 H/m b) 2mx 107 H/m ¢) 4nx 10 H/m d) 2zx 10 H/m

82. Colour code for 47Q resistor with £5% tolerance:

47 OQefareet 5YreiaehFeahSs -
a) Yellow — Violet — Black b) Yellow — Black - c) Yellow — Violet — d) Yellow - Violet -
— Gold Violet — Gold Brown — Gold Black — Silver
83. One metric HP = Watts
sadwm HP = dem.
a) 746 b) 756 c) 7355 d) 756.5

84. Two wattmeter method of power measurement is suitable for:
T e (Wit ) i & are wfiex fafer frfafiaa % o soge 2 -

a) balanced load only b) unbalanced load c) both balanced and d) delta connected load
FAS FFferT % fere A ST A F unbalanced load T weRf ¥ ST g 9K
ferg Haferd 3t swegferd @wr % forg

85. Two current carrying conductors placed side by side, experience a force of attraction:
21 U A % FH1T T g e aresh FeAfciaa Sehr s STeRir 9 ST Rl § ----

a) When current direction b) When current c) Independent of d) Only when one
of both conductors are direction of both the direction of conductor is
same conductors are currents carrying current
Sl A ferege aeent i ferga opposite ferege e 1 e et w2 e e
oy foem e | STeT ST ferepq et St fnft T 2 | foregat wTmT vt o & |
forera e fam fomes 2 |
86.  helps to find out the direction of current in the conductor of a generator
St o o ames o forera am o famm awiy 3 forg v 2 |
a) Cork screw rule b) Right hand thumb c) Fleming’s left d) Fleming’s right hand
hich T A rule hand rule rule
TEe g2 o & AT AP € Tl AT U5 TS TA

87. Ward-Leonard system is used for:
TS fAsTTE fafen 3uh &

a) Voltage regulation of b) DC motor speed c) Excitation of d) Voltage regulation
transformer control alternator of alternator
ZIEHIT T alees TR DC et w1 wfte dier | HACCHE Hl THRITEH IS T el
T
88. Fire caused by LPG is class ___ fire
T ot St T T gS ST B FAH - ST HET 1T 2 |
a) A | b B | C)C |d)D

89.When two resistors are connected in series total resistance is 8Q2 and when connected in parallel, equivalent resistance
is 2Q. Values of resistances are:
21 Hifest & 2 g Tt 1 (et )@ wHia ey 8 7 i e 9 wHi (Fiae )Sie ST @ ae 39 a1 & (equivalent) s 2Q) ® st ®

a) 5Qand 3Q b) 6Q and 2Q c) 4Qand4Q d) 7Qand 1Q




90. Base of BJT is:

BIT & ag @ --
a) Lightly doped b) Heavily doped c) Moderately doped d) Not doped
T S foRaT g3 SaeT 2 T g e T foRaT e e forerer <ift foma
B
91. Which type of motor is used in portable drilling machine?
aosret Tefem weft & forer S oY Hiiet st STRNT fokarm STram @
a) Induction motor b) DC series motor c) Universal motor d) Shaded pole motor
ESEREREICY DC difs qiex RIEEERRCIE LT I HIT
92. Moving Iron volt meter reads ___ value.
iR AR diee Hiet -1 FwtaT @
a) Peak b) rms c) Average d) Peak to peak
kI S TH. T, sied 0 g
93.Dioelectric strength of airis __ kv/mm
EELE I RCIR Ei ek g— kv/mm 2
a) 25 b) 25 c) 3.2 d)16
94. Negative plate of lead acid cell is made of
e e Felt it o e Frufafed & a9 g8 @
a) Carbon b) Spongy lead c) Lead peroxide d) Cadmium
e =il g e Wiaamse Exaich
95. RMS value = x Maximum value
RMSqes = ------- X stferean qea
a) 0.636 b) 0.85 c) 0.607 d) 0.707
96. The tube of fluorescent lamp is filled with:
AR HE IS hT At 9l et &
a) Mercury and Nitrogen b) Mercury and c) Nitrogen and d) Oxygen and Argon
w3 s Argon Argon SiterdIST 1 ATl
97. Ammeter shunt is ___ resistance
T T7E T TG ----- B
a) High b) Medium c) Low d) Very high
Eil eI E)
98. Transformers are rated in:
TG TTRaa eI R -~
a) KW b) MW c) KVA d) KVAR
99. 18 SWG = mm
a) 1.22 b) 1.42 c) 0.91 d) 0.61




100. - is known as universal gate.
gfadee (gate ) FiogarhiTdie

a) AND gate b) NAND gate c) OR gate d) NOT gate
Answer Key
Que;:ons Answer Que'::ons Answer Que;:ons Answer Que;:ons Answer

1 C 31 D 61 A 91 C
2 B 32 C 62 B 92 B
3 A 33 A 63 C 93 C
4 C 34 A 64 C 94 B
5 C 35 B 65 B 95 D
6 D 36 B 66 B 96 B
7 D 37 C 67 B 97 C
8 C 38 A 68 B 98 C
9 B 39 B 69 A 99 A
10 B 40 B 70 C 100 B
11 B 41 A 71 A

12 A 42 B 72 B

13 B 43 B 73 D

14 B 44 A 74 A

15 A 45 C 75 C

16 C 46 A 76 B

17 B 47 D 77 A

18 B 48 A 78 A

19 C 49 C 79 A

20 B 50 B 80 D

21 B 51 D 81 A

22 C 52 A 82 C

23 A 53 D 83 C

24 B 54 A 84 C

25 A 55 C 85 A

26 C 56 A 86 D

27 A 57 D 87 B

28 D 58 D 88 B

29 A 59 B 89 C

30 C 60 D 90 A




